MULTIPLE CHOICE QUESTIONS BASED ON EXPERIMENT: To determine the velocity of a pulse through a stretched string / slinky

1. sound waves can travel


(a) 
in vacuum only


(b)
in vacuum as well as in a material medium 


(c)
in a material medium only

(d)
neither in vacuum nor in a material medium 

2.
Velocity of a pulse in a string




(a) 
remains constant
 (b)
increases
(c )
decreases  (d)
may be (b) or (c )

3. When a pulse is formed on a slinky


(a) 
medium oscillates for a long time
(b)
medium remains undisturbed


(c)
medium oscillates for a short while and then returns to its original position



(d)
both (a) and (b)

4. The speed v, frequency f and wavelength ( are related as


(a) 
v = ( / f   (b)
f = v / (   (c)
v = f x ( (d)
v = f x (2 
5. If the air in the room warms up, the speed of sound in it 


(a) 
increases
(b)
remains the same
(c)
decreases (d)
fluctuates

6. Sound travels faster in solids then in gases because


(a) 
density of solids is more

(b)
sound cannot travels through gases


(c)
sound is an electromagnetic wave
(d)
modulus of elasticity is more than that of gases

7. The point of creation of the pulse at one end of the string should be kept with respect to the fixed point:


(a) 
above 
(b)
below
 (c)
in the same line
(d)
all of these

8. the string used should not be:


(a) 
with very small amplitude

(b)
stretched along the ground


(c)
having knots


 
(d)
all of these

9. To find the velocity of the pulse in a string, we need


(a) 
only a measuring scale
 
(b)
only a stop clock or a stop watch


(c)
both a measuring scale and a stop clock/ stop watch

 
(d)
neither a measuring scale nor a stop clock/stop watch

10. Which one is a correct statement


(a) 
a pulse is of long duration

(b) 
A pulse is a short and sudden disturbance



(c)
clapping of hand once produces a 
(d)
A pulse transport mass from one place to 



wave





another

11. Velocity of a pulse along slinky is given by

(a)
v = ( / T   (b)
v = T / (   (c)
v = T x ( (d)
( = v / T 
12 
We can sense a compression in a spring if: 


(a) 
Turns are farther apart than normal
(b)
Turns are close together


(c)
Turns are neither close nor apart
(d)
none of the above

13.
Calculate the velocity of a sound wave, which covers a distance of 8.1m in 0.3sec.


(a) 
27 m/sec


(b)
2.7 m/sec


(c)
2.43 m/sec


(d)
24.3m/sec

14.
Choose the correct statement


(a) 
we can generate a transverse as well as a longitudinal pulse in a rope/slinky


(b)
we cannot generate both the type of pulse in a rope/slinky


(c)
only a transverse pulse can be generated in a rope/ slinky


(d)
only a longitudinal pulse can be generated in a rope/ slinky

ANSWERS:

(1) c 
(2) a 
(3) c 
(4) c 
(5) a 
(6) d 
(7) c 
(8) d 
(9) c 
(10) b 
(11) a 
(12) b 
(13) a 
(14) a  


